
	ТЕСТ НАОБОРОТ

1) ____________________________________
____________________________________
1) испарение;
2) парообразование;
3) конденсация;
4) кипение.


2) ____________________________________
____________________________________
1) испарение;
2) парообразование;
3) конденсация;
4) кипение.


3) ____________________________________
____________________________________
1) испарение;
2) парообразование;
3) конденсация;
4) кипение.


4) ____________________________________
____________________________________
1) температура плавления;
2) динамическое равновесия;
3) насыщенный пар;
4) конденсация.


5) ____________________________________
[bookmark: _GoBack]____________________________________
1) температура кипения не изменяется;
2) температура кипения увеличивается;
3) температура кипения уменьшается.



	ТЕСТ НАОБОРОТ

2) ____________________________________
____________________________________
1) испарение;
2) парообразование;
3) конденсация;
4) кипение.


3) ____________________________________
____________________________________
1) испарение;
2) парообразование;
3) конденсация;
4) кипение.


4) ____________________________________
____________________________________
1) испарение;
2) парообразование;
3) конденсация;
4) кипение.


5) ____________________________________
____________________________________
1) температура плавления;
2) динамическое равновесия;
3) насыщенный пар;
4) конденсация.


6) ____________________________________
____________________________________
1) температура кипения не изменяется;
2) температура кипения увеличивается;
3) температура кипения уменьшается.





